Junior Hindi Translator Junior Translator and Senior Hindi Translator
Examination 2022

[Roll Number

Candidate Name

Venue Name

Exam Date 01/10/2022

Exam Time 2:00 PM - 4:00 PM

Subject Junior Hindi Translator Paper |

Section : General Hindi

Q.1 ‘Mg A5 3iiE H IiTehl’ Aehifwh 1 Tl oref arar @2
Ans 1. M & TSP SART hAT

o 2. AT el TR GEdT
3. 7T e aTet o fd SRy
4. BT A aTel § F&T T

Question ID : 26433094364
Status : Answered
Chosen Option : 2

Q.2 §ar+ (1) wet Frehret (2) Eenst 9 (3) 31U+ g1U ¥ (4) | URga Wi a1 | a1’ SXa=T ol 9@t
hH T gRI?

Ans 1.431,2
2.1,432

3.3412

o 4.1342

Question ID : 26433094387
Status : Answered
Chosen Option : 4

Q.3 f=faf@a # @ sreuwmor ais Si9-a1 87
Ans 1.3

2.9
3.9

&4

Question ID : 26433094430
Status : Answered
Chosen Option : 4




Q.4 ‘ggr fae & arex Reer area d &i9-91 RS 82
Ans o 1. 3MUrEE

2. gueH

3. aiferenzor

4. BT

Question ID : 26433094318
Status : Answered
Chosen Option: 1

Q.5 et Y 3R T -4 2reg 2> T &2
Ans 1. 3ATehieT

2. Iudieq
o 3.FRe
4. haptt

Question ID : 26433094458
Status : Answered
Chosen Option : 3

Q.6 <hfU + S2r <hl T @ R=F-41 2reg, TM?
Ans 1. U

2. U
o 3. FdY
4. pfosr

Question ID : 26433094356
Status : Answered
Chosen Option : 3

Q.7 ‘GRS # RS- TH 87
Ans 1. 51
2.38
o 3. srfivme

4. IqBY

Question ID : 26433094468
Status : Answered
Chosen Option: 3




Q.8 &RE[E (1) & (2) ¥R (3) FY (4) Frewe (5) Ta (6)1 vRga Eiea arerr | shw T (1) ik (2) &
qTe, ATeRT T <hT Tl shid T gIT?

Ans ' 1.6,4,3,5
2.3,5,6,4
3.5,3,6,4
4.6,4,5,3

Question ID : 26433094490
Status : Answered
Chosen Option : 1

Q.9 ‘wrreE’ fhHenT fawiw 2res &2
Ans 1. g5
2. 35T
« 3. faom
4.dR

Question ID : 26433094342
Status : Answered
Chosen Option : 3

Q.10 F=fafEa d 9 wi9-a1 arer g5 82
Ans 1. g9 fohat el ot gg= T
o 2. &8 fohast e TgA U
3. g foham &l &l T v
4. g¥ fopawt el ol TgAT U

Question ID : 26433094310
Status : Answered
Chosen Option : 2

Q.11 ‘f3ferar &1 aga== = gm?
Ans 1. fefedd
2. fsfaa
o 3. f3faat
4. fefermait

Question ID : 26433094316
Status : Answered
Chosen Option : 3




Q.12 ‘War o1 wgt |@fY-fade = g?
Ans o 1 AT+

2.3+ Ay

3|+

4, T+ g

Question ID : 26433094464
Status : Answered
Chosen Option: 1

Ans o 1.5 - gfear
2. 5T - 3&h
3. TR - AlvH

4. 7E — Gl

Q.13 ‘unfgardl’ Y g® @ w=-a1 gm gafea a8 8?2

Question ID : 26433094340
Status : Not Answered
Chosen Option : --

Ans o 1.4,1,32
2.2,4,1,3
3.4,3,1,2
4.1,3,4,2

Q.14 gsdier (1) e 7€ (2) geaeh (3) I (4) | U @iea arer & arary S==T o1 gl shA o
ghm?

Question ID : 26433094494
Status : Answered
Chosen Option : 1

Q.15 ‘ag Ugdl &' a1 o Thiet hiI-I-9T &2
Ans 1. guf aeAe
2. THATRT YeTehrel
o 3. AW adA
4. qThIfeTeh aeAT

Question ID : 26433094326
Status : Answered
Chosen Option: 3




Q.16 ‘il FeheEHT STOR T &' AT & fg Yah 2reg orT ghm?
Ans o 1. arEr

2. If¥Rg<h
3. 3ifdawht
4. uferdY

Question ID : 26433094462
Status : Answered
Chosen Option : 1

Q.17 ‘Sit ehgT 4T @' arerTien & fI Ueh 2reg o 87
Ans 1. ufsa
2. UhIiAd
3. fafaa
o 4. 3T

Question ID : 26433094352
Status : Answered
Chosen Option : 4

Q.18 F=faf@a & 9 wi=-41 are g &2
Ans 1. TSI I SIgT @l
o 2. OO IR ST 3@l
3. oo R SIgT &l |
4, TTESTA] T gl |

Question ID : 26433094414
Status : Answered
Chosen Option : 2

Q.19 ‘argt’ fohg uehR & fagivor @2
Ans o 1.70TdTTh
2. grdfAe

3. gRATUTEYSR

4. xA1EdTES

Question ID : 26433094312
Status : Answered
Chosen Option: 1




Q.20 ahiferars (1) &1 (2) 1 (3) -1 (4) &1 (5) foRet (6) 1 v @f3e arer A s & (1) 3R (2)

o 1€ ITeRT TR hT gl sh o1 gIIT?
Ans 1.4,3,5,6
2.4536
3.6,53,4
o 4.46,53

Question ID : 26433094378
Status : Answered
Chosen Option : 4

Q.21 ‘&g @a f, G @fcrgr FI' dAenifh 1 @t oref o &2

Ans 1. g1 TS T 3R THST T TN
2. STl gl T4, I8! THeT T
3. T® gHST | Agl T
4. ST gl R g

Question ID : 26433094472
Status : Answered
Chosen Option : 1

Q.22 ‘gar aga R st 31’ area & forar fgioor @ 32
Ans 1. &dr
o 2.9gd
3. gt
4.8

Question ID : 26433094436
Status : Answered
Chosen Option : 2

Q.23 ag 9R1 fed dhaet a1 Rk w1 & g Sugeh 21eg o/ gim?

Ans 1. gd
& 2.9

3. Ugq
4. Tohd

Question ID : 26433094332
Status : Answered
Chosen Option : 2




Q.24 M RASRI g1 R~h =i & fAg Sugeh 21eg a1 gvm?
Ans o 1.1
2. 98
3. faxr
4. Ghl

Question ID : 26433094440
Status : Answered

Chosen Option: 1

Q.25 F=fafEa 9 w9-a1 arer g &2
Ans 2 1. 3R @I @ B
2. 3R @™ @ g
3. 3fikd @ @t g1
4. 3fRd @ =@ gl

Question ID : 26433094308
Status : Answered
Chosen Option : 1

Q.26 Prffea & & Fa-t frar fromefer frar &2
Ans 1. SIRTET

2.9

3. g
o 4. Srar

Question ID : 26433094422
Status : Answered

Chosen Option : 4

Q.27 e (1) & (2) a9 (3) St (4) 1 vga wfa arerr & arery T=T T Ul shA R gRIm?
Ans 1.4,2,3,1
o 2.1,3,4,2
3.1,4,2,3
4.3,4,2,1

Question ID : 26433094492
Status : Answered

Chosen Option : 2




Q.28 &4t (1) =t (2) fafy & (3) =<t (4) & (5) o (6)1 vRga @ifea ararr # e T (1) 8 (2)

o 1€ ITeRT TG hT gl shd o1 gIIT?
Ans 1.3,5,6,4
o 2.364,5
3.4,56,3
4.3,6,54

Question ID : 26433094380
Status : Answered
Chosen Option : 2

Q.29 fA=faf@a d @ sy quf siq-arg?
Ans 1.4

& 2.9
3.3

4.7

Question ID : 26433094432
Status : Answered
Chosen Option: 2

Q.30 F=fafEa d 9 Fi9-a1 arer g 82
Ans 1. gard uenaft &1 wreaw G @+ =Rl
2. g udtenatt i Arenw & g =nfeul
3. gHR udterait Y A @ g+t =Ry
o 4. g udensit o Arew B g At

Question ID : 26433094416
Status : Answered
Chosen Option : 4

Q.31 ‘dfere’ foraent faeiiw aree 82
Ans 1. gferea
o 2. foqa
3. srfaerEifn
4. yfera

Question ID : 26433094450
Status : Answered
Chosen Option : 2




Q.32 F=fafEa d§ 9 wi9-a1 a3 82
Ans 1. 98 Xa-exdt R H gt
o 2. 98 S-S IR H g
3. Ig S-Ed TR H g
4. Ig S-St 'R H gt

Question ID : 26433094412
Status : Answered
Chosen Option : 2

Q.33 F=fafEa 4 9 «9-a1 arer g &2
Ans 1. Ug 1T T gl 8?2

2. Tg AN T hgd 87
3. Y T T hgdT 872
o 4. 3 N T Shgd €7

Question ID : 26433094302
Status : Answered
Chosen Option : 4

Q.34 T (1) Fg<ht (2) & (3) R (4)1 vga @if2a arera § arerr =T 1 Tl A T ghm?

Ans 1.4231
2.2314

o 3.1423
4.1,432

Question ID : 26433094384
Status : Answered
Chosen Option : 3

Q.35 fa=faf@a d @ wia-ar 2reg aew 781 87

Ans 1. Glch
2.3dh

o 3.7

4.8

Question ID : 26433094456
Status : Answered
Chosen Option: 3

Q.36 FmfafEa & @ i-ar e Shifenr &2

Ans 1. 91er
2. 919

& 3.9
4. grey

Question ID : 26433094428
Status : Answered
Chosen Option: 3




Q.37 ‘SSF b gl S-fo=de o gvm?
Ans 1. 98 + 39

2. 9T + 3
3. 93 + 3T

o 4. T + 37

Question ID : 26433094358
Status : Answered
Chosen Option : 4

Q.38 ‘nfy’ &Y R @ wi=-u1 gw gafea adi 82
Ans 1. TR — wHeTfReT
2. TREEAT — AR
o 3. T -~ St
4. g - gl

Question ID : 26433094448
Status : Answered
Chosen Option : 2

Q.39 fA=fafaa & @ &F-ar 21 ‘ufa’ &1 yafgerh &2
Ans 1. faemar

o 2.t
3.fayg
4. gt

Question ID : 26433094446
Status : Answered
Chosen Option: 2

Q.40 F=fafEa # 9 wie-a1 arer g 82
Ans 1. fehehe & gt &9 & Sfia ggl

o 2. fonche 7 g S 1 Sfia g8
3. fohehe H gamt &9 ot Sfta gaml
4. frdhe # gt & & St g3

Question ID : 26433094304
Status : Answered
Chosen Option : 2

Q41 sFATEeIR___ 3 Res == & o Suges 2res o ghm?
Ans 1.%@
2. firr
3.3dR
o 4.3

Question ID : 26433094442
Status : Answered
Chosen Option : 4




Q.42 ‘3TRAeRT aga vt g g1’ are | forar fgioor @ar 82
Ans 1.8
o 2.9ga

3. SFTAeRT

4. =t

Question ID : 26433094328
Status : Answered
Chosen Option : 2

Q.43 ‘gfes awhet g 31 & fArg Iugeh HgTerT =T 82
Ans 1. 7 R

2. TeTeh? ST
o 3. M& T
4. 7T SSTET

Question ID : 26433094470
Status : Answered
Chosen Option : 3

Q.44 fA=Afaf@a d @ -t forar dromefe forar &2
Ans 1.9

2. dteAr
o 3. YaIrT

4. of

Question ID : 26433094314
Status : Answered
Chosen Option : 3

Q.45 ‘Rfsar 1 aga== @ar ghm?
Ans 1. Rz
2. Rfr

3. Rifsarai

4. fafsa

Question ID : 26433094424
Status : Answered
Chosen Option : 2

Q.46 ‘GgH =1 g dfy-fa=de aam ghm?
Ans o 1. T+

2. T + e

3.9d+ e

4. 95 + o

Question ID : 26433094466
Status : Answered
Chosen Option: 1




Q.47 =6 e (1) 9 (2) 9g7=a (3) A9 (4) 1 wga e araa & ara |e==T 1 gt h T gr?

Ans 1.4231
2.3214

3.1423

o 4.4321

Question ID : 26433094386
Status : Answered
Chosen Option : 4

Q.48 ‘9 MY a9 & U’ TRy o1 HTel hI-TT 87
Ans 1. duren vfasy
2. g s
o 3. ogegre vfds
4, 9T A

Question ID : 26433094330
Status : Answered
Chosen Option : 3

Q.49 ffafEa d & w9-a1 ar g &2
Ans 1. Ig 37T ST

2. 3ATST S|
" 3. T8 37T ST
4. Tt 37T AT

Question ID : 26433094410
Status : Answered
Chosen Option : 3

Q.50 ‘Sit <h¥ ST @' arerail & fAT U ores am 82
Ans 1. 9gd
o 2. U
3.3
4. 999

Question ID : 26433094460
Status : Answered
Chosen Option : 2

Q.51 Tet Fi gfe @ wi=-ar 21eg g 8 82
Ans 1. fefifea

2. AT
o 3. oA
4. T

Question ID : 26433094350
Status : Answered
Chosen Option: 3




Q.52 ‘HigHY fhg uehR <A fasivor &7
Ans 1. ufeToTEtEeR

2. TTaTEh
3. greAe

" 4. TUTaTdch

Question ID : 26433094420
Status : Answered
Chosen Option : 4

Q.53 fA=faf@a d @ aga e Fr 82
Ans 1. <pioT

& 2. FrE

3. 38
4. pifher

Question ID : 26433094454
Status : Answered
Chosen Option : 2

Q.54 Prfafea § & Fa-a1 ae 4F 27
Ans o 1.8 TR R we B
2. %34 g e v R 21
3. 814 qr e 1 A 8
4. %33 a8 R g A 21

Question ID : 26433094306
Status : Answered
Chosen Option : 1

Q.55 ‘3’ fohgrent uafaarh &2
Ans 1.9

o 2. ST
3. 9med
4.9g

Question ID : 26433094336
Status : Answered
Chosen Option : 2

Q.56 F=fafEa 9 wie-1 arer g 82
Ans 1. PR T FFRETT IUE TS|

o 2. P o ST I T
3. gd & afEar 3ug T
4, IR Y I Iy TE|

Question ID : 26433094418
Status : Answered
Chosen Option : 4




Q.57 ‘A2 UG ¥@T &' dATeRT hT eIl T &2
Ans 1. Tfery g
F 2. dTchITeleh adaT

3. guf adae

4, T AT

Question ID : 26433094434
Status : Answered

Chosen Option : 2

Q.58 Pl & & sty aof @-a1 22
Ans 1.9
o 2.9

3.7

4.9

Question ID : 26433094324
Status : Answered
Chosen Option : 2

Q.59 f=fafEa d @ wi-ar o ‘JeA T &1 vafgardt 82
Ans o 1. 97Ti%
2. ht
3. 3fag
4. gfee

Question ID : 26433094338
Status : Answered
Chosen Option: 1

Ans o 1. 35T
2. SRS

3. 3TUST

4. gdst

Q.60 ‘foreent 5= Ui garm & araiaT & g Oek 2res o/m &7

Question ID : 26433094354
Status : Answered
Chosen Option : 1

Ans o 1. gfeat =
2. ME s
3. 7 e
4. i e &R waAT

Q.61 ‘At & uehten e a1 & g Sugh qeTawT T 87

Question ID : 26433094362
Status : Answered

Chosen Option: 1




Q.62 ‘TSI | hI=-9T 9HI 82
Ans o 1.9l

2.28

3. a1

4, st e

Question ID : 26433094360
Status : Answered
Chosen Option: 1

Ans 1. UTgeh
2. e

o 3.7ig
4.

Q.63 fA=faf@a & @ -4 2reg aqw 781 87

Question ID : 26433094348
Status : Answered
Chosen Option : 3

Ans 1. i

o 2.9
3. 92R
4. msyd

Q.64 ‘GRTAT fohwenT faette 2reg 82

Question ID : 26433094344
Status : Answered
Chosen Option: 2

Ans 1. grea
2. Tk

3. oiga

¥ 4.7

Q.65 STV gE™l h R &l gi? s == & o Sugeh 2res o ghm?

Question ID : 26433094334
Status : Answered
Chosen Option : 4




Comprehension:
AT TS T faer aoft g & 5ia 3= areh f1er ugor i &)1 R # oft e &t orasn wR gftura
& Y FETUH AR gfRuY H afeh-chrer it e i o we uRaferd gid &, Sief a8 2w @ ferar &
foh ot Ugfal A st ot T W oft 1 SRy ufaer & smeR R SRt IufRAfa gt off arerf g &
foh BTt Y TaTerehaT U A8t Sifig TuneHeRarT tR e e Srar e
frfafed ueil & 3= Sud merier & SmaR W S
SubQuestion No : 66

Q.66 T[Tl # fherehT AT @ STTT UT?

Ans 1. Y&l &t
& 2. TUTaIT e
3. IE A

4. =1 &7

Question ID : 26433094390
Status : Answered
Chosen Option : 2

Comprehension:

HTa GATST T [enre i) Tvia & 519 39 s 18T 7801 &Y 8| Ra # +ff f1er et qoren w gfeurd
& AU §R 3fPuY # Afen-arret <t e i B Te uRafad gt 8, STef 98 d& & e &
foh e Ugla # sl eht T Hfea ot 3T Ui 3 SR WR Sl IUFATT gt oft | I g 8
for BT i H=ATHeRdT UR @] UG oTTeHehaT UR &1 e ST o

frfefed veit & SR Sud merier & SuR W G-

SubQuestion No : 67
Q.67 Txeh A&t o1 o/ SN2 &2

Ans o 1.3 e
2. STaETes ferm
3. sftqanfies fRer
4. srftoanfes e

Question ID : 26433094393
Status : Answered
Chosen Option : 1

Comprehension:

AIa GATST Al fenrer a+f) Tvia & 51 9= s et 781 &t gt wRa 7 off e <t qoresn w gfeurd
& dt gavem AR gfRuy # dften-ahrer Y fRienm i o e uRafea gid &, Siet 78 3w & e &
foh et ugfal A st Y T Wi ot SR ufae & smeR R ST IufRAfT gt off e ag &
for BT T TR UR A8} S TuTTHRaT TR €T T ST o

fferEa usif & SR ST eI & SR W &IfSg-

SubQuestion No : 68
Q.68 et H fArsal & T AT STUR T UT?
Ans 1. 9189
2.9
& 3. ufaa

4.Fq

Question ID : 26433094391
Status : Answered
Chosen Option : 3




Comprehension:

AT TS T faehre it Tea & Sid I8 TrIeh =181 TgUT Al 811 IR # T e <At 7ora= wR gfeura
Rt gduaH gIR gftuYy § afder-ahrer i fRren <t ofd T uRkafaa gkt &, S8t ag 3w &l fear g
o ot ugfa A fRrsat Y e Hfaa oft i SR ufden & smemr R I IufRAfa gt oft ararf 7 &
for BT <l HeATHeRdT UR 1 AU UTTcHehaT UR &1 e ST o

frfofed ueit & ST Sud merier & SuR W S

SubQuestion No : 69
Q.69 TEgd ugha 7 fArsa i T St giedt ofi?
Ans 1. T0g

o 2.5
3. g T
4. 5ara1

Question ID : 26433094389
Status : Answered
Chosen Option : 2

Comprehension:
ATE GATST T [enre a+f) Tvia & ST 9= awach f1eT 7801 Y g1 9TRa # off frer <t qore w gfeurd
o o AU gR 3fPuy § Aften-arret it fRien i B Toe uRafaa gkt &, S8l a8 3= & e &
o gt ugfal A st &t T Wi ot IR ufae & SR R T IufRAfT gt off a7 8
o BT Y TeaTeehal IR 8! Siftg uneTehar tR e far Srar o
ol vei & IR Iud Mt & seR R e
SubQuestion No : 70

Q.70 ‘Bf’ =1 /T 3N &2

Ans 1. gyfa
2. ggor

3.3f®
o 4.3

Question ID : 26433094392
Status : Answered
Chosen Option : 4

Comprehension:
1857 & TTex shifd 7 g ot wnfig e €t feam o1 fs vRaad St sreft ae fafr= s aifeat &1 was
ISR TH=IY T, Uoh Uae fageft drend o o1efie 'Ueh g’ & =0 H fagy o el 1R S¥R @7 1| gty agf
T Igd 981 9 I8 ot o1 o6 wRa # fafera &= 7 srerT-srenT 59 wfhar o, sik syfe endifen
AP H FY H IT'Teh AL’ & TY A ITh! Uga g9 e e Tehd & | IR Teh faw Fiepfaen, anfifes sk
TTHTR i SITLRT I8 ok 31597 o H 3TTalg heet At
frfafd veit & SR Suds merier & SuR W G-
SubQuestion No : 71

Q.71 e & Heof # H9-91 FY 3T 8?7

Ans 1. R A&t amee & sref= am
2. Rd Hitepfddh U I Yeh G H a7 7|
& 3.1857 ¥ qd ¥Rd H dlchds AT
4. 1857 & qd Rd H SeT-37e Tairfhar off|

Question ID : 26433094402
Status : Answered
Chosen Option : 3




Q.72

Ans

Comprehension:
1857 <1 TTeR shifd 7 Ig o TAfUT & & & o7 foh TRday St sreft aes fafera Irsar arf<eall &1 gan
ISR GH=IY T, Uoh Uae fageft drend o o7efie 'Ueh g’ & =0 H fagy & et 1R S¥R @7 1| gty agf
T Igd 981 9 I8 ot o1 o wRa # fafvra &= 7 srerT-srenT o fhar o, sik syfe aendifen
Y & ET H T 'Yk AY' & TU A IAH] UgdH gH el e Uehd & | UG Teh [aRIN Tikepfclen, eTfich TR
TTHSR i STLRT I8 Tk 31597 G H 3TTelg heet ot
frfefad weit & SR Sudh Terier & SuR W S
SubQuestion No : 72
‘Mex’ oh1 o/ 3 giar 82

1. T RgE

2. et fagle
3. foram - ks
o 4. 3R fags

Question ID : 26433094405
Status : Answered
Chosen Option : 2

Comprehension:

11857 & TTex hifd = g at wfid o gt fam o fon siRaa st sreft ar fafera wwa e & g
IR T 2T, Toh Taret fageft drerd o orefie ‘Uer g’ & =0 7 fagy & Fat iR 39R @1 11 gy ggf
Qo Igd 981 9 I8 ot o1 o R # fafera & 7 srerT-srenT 5 fhar o, sik syfae enditen
AP S FY H IT'Teh AP’ h ¥U H ITh! UgaH g7 e e Uehd & | TR Teh faiw Fiwpfaren, anfifer iR
AR i SITYRT I8 Qb 3157 T H 3TTaIg heet AT

frffed veil & ST= Sud merier & SaR W S

SubQuestion No : 73

Q.73 §+ 1857 & aTe URa fay & 7o} wr fhw w0 d I9R g1 u1?

Ans

1. &
o 2.37Y
3.2

4.359

Question ID : 26433094401
Status : Answered
Chosen Option : 2




Q.74

Ans

Comprehension:
1857 &l T1ex shifd 7 g ot wnfia e gt fean o1 foh vRaa &Y ereft ae faf= s aifhat a1 was
FHASIR T T, Uoh Uae fageft drend o o7efie ‘Ueh g’ & =0 H oy o el R S¥R @7 1| gty agf
T Igd 981 9 I8 ot o1 o R # fafera &= 7 SrerT-srenT 5 wfhar o, sik syfe aendifen
AP H Y H IT'Teh AP’ & TU & ITh! UgaH g9 e ohe Tehd & | IR Teh faiw Fiwpfaen, anfifes ik
AR i STLRT I8 Tk 3157 o H 3TTaIg heet AT
frffed veit & SR Sud merier & SaR R S
SubQuestion No : 74

189

2. §uerg
3. ¢

4.6

Question ID : 26433094404
Status : Answered
Chosen Option : 4

Comprehension:

1857 i TTex shifd = g ot wfid & gt fear o1 foh vRaad St et aa fafra s aifhat a1 g
IR T 2T, b Taret fageft arend o orefie ‘U g’ & 0 | fagy & TFat iR 39R @1 11 gefy ggf
Qo Igd 981 9 I8 i o7 o R # fafera &= 7 SrerT-srenT 5 wfhar o, 3k snyfe enditen
AP S TY H IT'Teh AP’ h ©U H ITh! UgaH g7 T8 e Uehd & | IRg Teh faw Fiwpfoen, anfifen iR
TSR Y SHTYRT I Tk 3757 T H 3TTelg heat ot

frafafed ueil & S Sudw merier & SmuR W S

SubQuestion No : 75

Q.75 ‘3ATag T T AT &2

Ans

1. IR S
o 2.3 9

3. q<h Sy

4. gehud

Question ID : 26433094403
Status : Answered
Chosen Option : 2

Q.76 ‘dg 7T g’ dTeRd <hT kIl <RIT &2

Ans

o 1. 991 adAE
2. Hfeay aefme
3. I adAE
4., JIHICIeh adaTe

Question ID : 26433094438
Status : Answered
Chosen Option: 1




Q.77 f=fafaa d @ Si9-ar s Shfer &2
Ans 1. 718
o 2.5

3. e
4. et

Question ID : 26433094320
Status : Answered
Chosen Option : 2

Q.78 ‘=g fohmept faeiw 2rez 82
Ans 1. 9419
2.3
o 3. 3R
4. =

Question ID : 26433094452
Status : Answered
Chosen Option : 3

Q.79 ‘FaT A = &l Be1a @Y a1 A IGifehd 3721 & hi-9T IRk 87
Ans 1. 3=
2. ey
o 3. %
4. §ueH

Question ID : 26433094426
Status : Answered
Chosen Option : 3

Q.80 Jahst (1) wewmg (2) T | (3) MY (4) TR Fi (5) 34T (6) 1 ¥ T arera & wh &= (1) iR
(2) % aIT% aTeR ERTAT T Tl THE T gRI?

Ans o #1.53,64
2.5,3,4,6
3.3,6,4,5
4.3,5,6,4

Question ID : 26433094488
Status : Answered
Chosen Option : 1




Q.81 g (1) Hehed (2) TRt (3) eteA (4) T (5) ST (6) | YR @isa arerr | v T (1) 81 (2)
h 1€ ITeRT TR hT gl shl oRIT gIIT?

Ans 1.6,34,5
o 2.5643
3.3,64,5
4.543,6

Question ID : 26433094382
Status : Answered
Chosen Option : 2

Q.82 fm=faf@a d@ @ dga U= H=-a18?
Ans 1. k18

2. TdeA
3. &rd
o 4. T

Question ID : 26433094346
Status : Answered
Chosen Option : 4

Q.83 ffaf@a # @ srequror s wi=-41 8?
Ans 1T

2.3

3.9

4.9

Question ID : 26433094322
Status : Answered
Chosen Option: 1

Q.84 3rrat (1) farermera (2) & (3) Ffteres (4) o1mg (5) & (6) 1 R @fdd ara A e v (1) 3R (2) &
qTE, ATeRT T T Tl hid T gIm?

Ans 1.4,3,56
2.3,6,54

o 3.3,4,56
4.3,56,4

Question ID : 26433094486
Status : Answered
Chosen Option : 3




Q.85

Ans

‘gt freet gafaarh 82
1. &l

2.4
3. 97
4.

Question ID : 26433094444
Status : Answered
Chosen Option: 3

Q.86

Ans

Comprehension:

ST STET TRy SR Al & TAhRI IR fRIehst ¥ 3@ & F61 herd o (TTe! ST =T i aftr &
3 faer @ 2 3¢t &t & vRdg eReig &t ekat o1 Sag R aeRIRar sfaer & e shifaer gear
g 319 ST¢ g 9 g@fe @ i@ | 87 81! WRa géan 9 &l S8 1’ I7eh Ichien= IRay [RAfd & 39
guia 3 7 9 fhat emfaal & w6 TR oY IS R ST ot Haarer 941 feam| I 39 aua i
ofaal & TR & goar ud Refferdar @ o & arer &) @, TareT gt 2l i srea STt
frfafed ueil & SR Sudw merier & SmaR W S

SubQuestion No : 86
WRdg slgix 7 fradh srea sTmd?
1. R 3R ISR

o 2. @ iR Arfe
3. WT 3R TR
4, T 3R ST R

Question ID : 26433094506
Status : Answered
Chosen Option : 2

Comprehension:

ST STET SIATAR] 3R ST § USR] UR fRIchot i 3¢ & g1 chetd oh 1RITTG! STUT Sa=t el afusr &
3¢ fuer @ 9 3¢t &l & vRdg gReie ol el 1 Ieg IR sehIRaT sfaerd § e hifderdt g
21 ‘319 5T¢ Ag € g@fe 3@ feward | g1 g1l R gan A 3t S 1’ Ik Aot TR R & 39
guia 3 7 9 fRd-T emfaal & w6 TR oY IS PR ST ot Haarer 41 feam| I 39 a5y
fafoat & aR & gogar gd Refferar @ forem & ary g wer, arem qur 2rafh it srerg St
frfafea ueil & IR Iud Mty & smeR R e

SubQuestion No : 87

Q.87 TTeriaT § Ugh ‘HeAdTAT <hT oRIT SR 82

Ans

1. fa¥eft
o 2. &ar
3. gfen

4. Ui

Question ID : 26433094503
Status : Answered
Chosen Option : 3




Q.88

Ans

Comprehension:

ST STET SIATaRy 3R Il ¥ UehRT UR fRIchot o 38 & a8 chetd o fAumet sroft =it <t aftsr &
3% Uger 8 91 5¥f el 7 WRAg gReS i eial 1 Iad YR USahIRaT Sfgrd # e ghifcient e
g 319 T8 g 9 g@fe g R | 871 81! vRd géan 7 &l S 1’ I dhieiy TR [RAfd & 39
guiq 3 9 ST fohat ymfaal & 36 TR &t I7SId &R STSIET ot Adarel o7 3T 3614 39 98y &t
faforat & IR & gegdr gd Fefferdar @ foram & ary g W er, T qur 2rfh it srera St
it veit & SR Sud merier & SuR W G-

SubQuestion No : 88
‘afer @1 e aref gar 82
1. sfta

2. uged
o 3. T
4, TE

Question ID : 26433094505
Status : Answered
Chosen Option : 3

Comprehension:

ST ST8T SRy SR Sl O UAehRI IR fRIehst e 3@ & T81 cherd o (TTel SOt T i aftr &
3% TUaeT 38 &1 32 ohet H WRAG 8RS &l ol T 36T VR UShIRAT 3ITgT H Ueh Shifdehl geT
81 '379 31 3wg 9€ 3 Efe g fRmars| &1 g1l Ra géam 7 &l S|’ I denret WRd R & 3w
Ui 3 7 9T fohamt el & Toh TOR ol ITfoId R SITSTIET T Adare a1 ATl S8ivt 39 JHY hi
ffaat & TR & gear gd Refferar @ forast & ary g @, @araT gorr 2rafes fi sreg STt
frfafed veit & 3= Sud merier & SmaR R S

SubQuestion No : 89

Q.89 ‘& o AT’ @ fohvaant daha &2

Ans

1. Rorgh ok etk

2. Siferehr ok R
o 3. Ed R TR

4. TS 3R hifeenrt

Question ID : 26433094507
Status : Answered
Chosen Option: 3




Q.90

Ans

Comprehension:

ST STET SaTaRy R Al & BRI 0 fRIchst e 3@ & I8t cherw o Rumel sruft e i afvr &
3% UgeT 36 91 5¥f ! # YRAg R i eial 1 Iad YR USRI SIgrd # Qe Shifciehl e
81 '379 51 3wg 9€ 3 fe g fRward| &1 g1 Ra géam 7 A S|’ I et wRd R F 3w
Ui 3 7 9 fohamt el # Toh TOR ol IAfSId R SITSIET T HdaTel o1 ATl S8ivt 39 THY aht
ffaat & TR & gear ud Pefferar @ fores & ary g @, araT et 2erafe fi sreg ST
frffed veit & ST Sud e & SaR W S

SubQuestion No : 90
‘fRAchSTT HEA’ T AT I 87
1. e AT
o 2. AN H HAT
3. IS TIMT

4. TATIR hAT

Question ID : 26433094504
Status : Answered
Chosen Option : 2

Q.91

Ans

Comprehension:

&h at Oft e TR, O afte a9, amiflies s« o3, g o1 faem &) ofk e mgsa e (1)
TR ST gl b | §H SMaThdT 39 oTd o & foh g7 facaft sifdiepr & T Igame o1 (2) M 9eR
& faf o= amarei ar ofk ITch TT &1 Sh T SfR uteyey famm &r (3)___ 3| gH Fifes ofk Ut
Geoft et Y smasgendr 8, foa Sei-get fi gieg ok (4) g1, o g et & fog AT
ART fOhe & Faet S7uT sraaeharsii &l (5) & forg vt aTE o Tk iR siTuTaehIet & forg
T oft R |

IUh TEIeT & SR R Frfafa usii & I S

SubQuestion No : 91
Terier & Rk I (1) & forg Iugsh 21eg o gm?
1.9

2. Ok
3. gt
o 4

Question ID : 26433094475
Status : Answered
Chosen Option : 4




Q.92

Ans

Comprehension:

&4 Y Oht e wnfdy, e aRer o=, Amflies o s1g, gf o1 o &t ofk e 7gsa srom (1)

TR TSI &l G| g STaThdT 39 a1 hl & foh g1 faaft Sifdrepr & Tad= tgans oo (2)___ 919 SR
& faf e smarsit s ofk ITch T & SiTSh T SfR urgyer fam @t (3) 3| gH Tifden ik Tt
goft frermart &t smaachdr 8, fSS Je-eel &l gig ok (4) g1, o 7= et & forg ARr-
AR fheA & St SruT sraaeharait i (5)___ & oy uaitd hare e Teh 3R MmuTdehrel & fag

T oft = T
IWIh Terier & YR R Ao usi & I dfv-

SubQuestion No : 92
TeriRr & Rk I (2) & g Sugeh 21eg /a1 gvm?
PR
2. W
3.9
o 4 TS

Question ID : 26433094476
Status : Answered
Chosen Option : 4

Comprehension:

& ot O e iRy, e afa o, afliss a1 98, g o1 e &t ofk e #gsa s (1)

TR E3T &l Gk | g SMaTchdT 39 a1 hY & foh gr fasft sifdrepr & Tad= Tgans oo (2)___ 919 SR
& faf e smRarsit s ok 3Tk W1 &Y SiTh 9T SfR urgyer fam a1 (3) 3| gH Tifden ik Tt
Goft st Y smasgendn 8, foTa SeivT-get &I gieg ok (4) 81, [ T8 wgs fendt & forg ART-
AR A & Seet SruT smaaerarait &l (5)____ & fog uaitd hare e Teh 3R 3MTUTdehlel & fog

G99 oft R T
IUh TTEIeT & SR W FAEfREd wei & SR dfg-

SubQuestion No : 93

Q.93 wrerizr & Rk wI (3) & forg Iugh 2r1eg @ ghm?

Ans

1. foR=PR

2. YT o
o 3. T

4. IR

Question ID : 26433094477
Status : Answered
Chosen Option : 3




Q.94

Ans

Comprehension:

&4 oY Oht e wnfdy, oo aRar o, amflies oe a1g, gfg o1 faerr &f ofk e 7gsa arom (1)

R ST g G| gH SATaTehdT 39 aTd 6 § o g faft sifder & W= g o1ae (2)___ I %8R
& faf e emarsit st ok 3Tk TT gt SiTh T ofk urgrer famm @t (3) &1 g8 Fifacs ofiz Uit
Goft fRremar fr smasgendr &, foa Je-ge i gig ok (4) &, foe v et & forg AR
ART fhe & Fet 3ruT smageharait i (5)_____ & forg uaicd Hare o Tah 3R 3muTdehret & fag
o oft = |

IR TTEIiRT & SMYR IR fAfafad e & s dfore-

SubQuestion No : 94
Terier & R R (4) & g Iugwh 2reg a1 gm?
1. fommar

o 2. o
3.89

4. Ueh1T

Question ID : 26433094478
Status : Answered
Chosen Option : 2

Comprehension:

&4 Y Oht e wnfdy, e aRar o=, Amflies o w1g, gfeg o1 faer &Y ofk e 7gsa arom (1)

R ST g G| §H SATaThdT 39 a1d o § b g7 fadft sifder & W= Tgame o1aa (2)___ I %8R
& faf e emarsit s ok ITch TT g SiTh T ofR urgyer fa=m @t (3) &3 gH Fifacs ofiz qedt
oft fRremar Y smasgendr &, fa Sei-eel i gig o (4) &, foe v et & forg Arr-
ART fheA & St 3ruT smageharait i (5)_____ & forg uaitd hame o Teh 3R 3muTdehrel & fag

T oft = |

Yk eI o SR R fAmfered usif & s JfSg-

SubQuestion No : 95

Q.95 rerisr & fi=h ®=I (5) & g Iugh 2res o/ ghm?

Ans

o 1.9
2. |
3.3
4. g

Question ID : 26433094479
Status : Answered
Chosen Option : 1




Comprehension:

I T g (1) 1 8| foRelt off uenr &t e g amaft #134 ehl Uek foreteh R g T SAsit s
Gercll &1 Teh-iichl & ¥R 9 G H gHR STH-UTH Ga-1s7l &l (2)______ 8, fadem o & gemd f s €
TG GEATSH o1 At TR 7 § ST gt &1 gEeet o 39 g § S ahife ol faye, arefes g e
TS Y T AT T (3) S 7T | GEAT Ud GHTERY oht TR ahet areft gehrgart oy e
TaTell & (4)______ & ToR et &1 ada uResa & Hifear sraara s g @, ahen sifasmaiics T g
37T THTERI Bl ATAGR TR AT & &g (5)___ ST gl 8l

IWRIh TMerier & SR R Ao vsi & 3w dfoe-

SubQuestion No : 96
Q.96 eriar 3 Rk wTH (1) & AT Iugh 21eg ghm-
Ans 1. Sriete
o 2. ifd
3. mes
4. facie

Question ID : 26433094367
Status : Answered
Chosen Option : 2

Comprehension:

I T g (1) 1 8| forelt oft uenr &t e g amft #134 ahl Uek forereh 0 gt T st s
Gerdl! &1 Tehiichl & ¥R 9 G A gAR STH-UTH Ga-1sTl &l (2)______ 8, fade o & gemd af s €
TR GEATeH o1 i TR 7 § ST gt &1 gEeet & 39 g § S ahife ol fasye, arefes g e
TS ol UT AT Ueh (3)_____ 911 1T & | AT G THTARY bt SO et areht geprgar oy fee
el & (4) F oR areft &1 adar uRgea & Hifear saqamg o go 8, e st 7 g
37T THMERT Bl AATAER TR AN & & (5) STRET &1

IRIh Terer & SR R FrfafEa usi & 3w Hfee-

SubQuestion No : 97
Q.97 eriar & Rk ®=H (2) & g Iugeh 21eg ghm-
Ans 1. JURUR

o 2. 3aR
3. HaT8

4. RER

Question ID : 26433094368
Status : Answered
Chosen Option : 2




Comprehension:

g g =T (1) 1 1 forelt off wepR il T wd At Arsw it gen fater wR ang off sft o
el &1 dehiichl & ¥R 9 G A gHR STH-UTH Ga-137! &t (2)______ 8, fademn o & gemd af s €
TR TS T A TR 7 § ST gorr &1 gETet o 59 g § S ahife ol fagaea, aredes g e
a3 Y T AT Uk (3) I 71T &1 AT U AR okt SO e aTelt 3eRtsat oy e
garell & (4)_____ F For A1 &1 adw uResy & HifEar cga@rg a7 Yanl &, e it 7 g
SITST FHTERT Y FHTAER TR @Rl & i (5) BRG]

Yk TN o SR R fAmfered usif & S -

SubQuestion No : 98
Q.98 reriar & ek ®=I (3) & foig Sugh 2res ghm-
Ans 1. tha
2.9g
3. FHRSH

o 4 T

Question ID : 26433094369
Status : Answered
Chosen Option : 4

Comprehension:

I G =T (1) 1 &1 Toreht +ff TenR Y g1 Gd it /1S9 hl Ueh foreten TR ahgl Y AT ST
ehcll &1 dehiichl & ¥R 9 G A gHR STH-UTH Ga-137l &t (2)______ 8, fademn o & gemd @ s €
TR YT o1 [Aaiia TR 7 § ST gt &1 gEeet o 59 g § S ahife ol fagea, aredes g e
Ga3T Y T AT Uk (3) I 71T &1 AT U AR k! SO e aTelt 3eRtsat oy o
garell & (4)_____ & FoR e &1 adw uResg & HifEar cgaarg a7 Yanl @, e itz 7 g
3TST GATIRY ! HYTAGR TR AN & ot (5) BRG]

ITYh TEIIRT o SR R fAmferea usif & s JfSg-

SubQuestion No : 99
Q.99 wrerier & Rk T (4) & fog Iugh 21es g m-
Ans 1. mferat

o 2. BT
3. |
4.9

Question ID : 26433094370
Status : Answered
Chosen Option : 2




Comprehension:

g T g (1) 1 8| forelt oft uenr Y e v amaft 7134 el Uek foreteh 0R gt ofF Ssit s
Gehelt &1 deh-iiehl & YR 39 G H AR S1TY-UTH 137 o7 (2) 2, fodem ag i gE=md ot s €
g Garet o1 fseit TR e & 57 Rt &1 gEneil & 39 g O I3 it Y fRrsaei, anefes vd g
IS Y T AT Qeh (3)____ S 7T &1 T U THTIRY Rt GO v areft gehrear oy A
TaTelt & (4)____ & ToR 3t 1 ada uRgeg & Hifear craarg s+ o 8, s arfaraifn e ghm
STST THTERT i AGTAER TR 7l & ot (5)_____ ST ReT &l

IRIh TMerer & SR R FrfafEa usi & I dfoe-

SubQuestion No : 100
Q.100 werisr & Rk I (5) & forg Iugsh 2res ghm-
Ans 1. Qe
2. Telt
3. w@lier
o 4.9

Question ID : 26433094371
Status : Answered
Chosen Option : 4

Section : General English

Q.1
Ans 1. sedate
« 2. agitate
3. placate

4. abate

Question ID : 26433094665
Status : Answered
Chosen Option : 2




Q.2

Ans 1. DBAC

« 2. ACBD
Question ID : 26433094594
3.
ADCB Status : Answered
4. BDAC Chosen Option : 2
Q.3
Ans 1.
2. desired
3.
« 4. appealed
Question ID : 26433094653
Status : Answered
Chosen Option : 4
Q.4

Ans 1. BCAD
« 2. BDAC

3. DACB

4 DCAB

Question ID : 26433094703
Status : Answered
Chosen Option : 2




Q.5

Ans 1.

&2

4. People can understand that it is not always possible to win.

Question ID : 26433094530
Status : Answered
Chosen Option: 2

Q.6
Ans 1.
2.
« 3.
4.
Question ID : 26433094635
Status : Answered
Chosen Option: 3
Q.7
Ans 1. treachery
2. splendour
3. luxury
« 4 filthiness

Question ID : 26433094659

Status : Not Answered
Chosen Option : --




Q.8

4 CABD

Ans 1 RSQP
2. QRSP
3. PSQR Question ID : 26433094697
o 4 SPRQ Status : Answered
Chosen Option : 4
Q.9
Ans 1. One of my
2. in Shimla.
W 3.
4. Wo error
Question ID : 26433094518
Status : Answered
Chosen Option : 3
Q.10
Ans 1. BADC
2. BCDA
ionID: 264 9459
3. ACBD Question 6433094598

Status : Answered
Chosen Option : 1




Q.11

Ans 1.
2.
3.
o 4
Question ID : 26433094641
Status : Answered
Chosen Option : 4
Q.12

Ans 1. DACB
2. DABC
3. CDBA
4 ABDC

Question ID : 26433094699
Status : Answered
Chosen Option: 1

Q.13

Ans 1. mutually
2,
3,

4. unilaterally

Question ID : 26433094550
Status : Answered
Chosen Option: 1




Q.14
Ans 1. Tt is her
2.
+ 3. interest me.
4.
Question ID : 26433094623
Status : Answered
Chosen Option : 3
Q.15
Ans 1. are fairly
2.
3. are exactly Question ID : 26433094707
Status : Answered
o 4. are likely Chosen Option : 4
Q.16
Ans 1.
2.
W 3.
4.
Question ID : 26433094544
Status : Answered

Chosen Option: 3




Q.17

Ans 1.

2.

o 3.

4.

Question ID : 26433094647
Status : Answered
Chosen Option : 3

Q.18

Ans 1. He wished
+ 2. he listened

3. to his
4.
Question ID : 26433094627
Status : Answered
Chosen Option : 2
Q.19
Ans 1. inventory
2. proposal
3. itinerary
4. schedule

Question ID : 26433094548
Status : Answered
Chosen Option : 1




Q.20

Ans 1. complain

« 2. compliment

3. criticize
4. condemn
Question ID : 26433094558
Status : Answered
Chosen Option : 2
Q.21
Ans 1.
2.
3.
4.
Question ID : 26433094566
Status : Answered
Chosen Option : 1
Q.22
Ans &1
2.
3.
4.

Question ID : 26433094536
Status : Answered
Chosen Option: 1




Q.23

Ans 1.

2.

" 3.

4.

Question ID : 26433094649
Status : Answered
Chosen Option : 3
Q.24
Ans 1.
o 2.
3.
4.
Question ID : 26433094532
Status : Answered
Chosen Option : 2
Q.25
Ans 1.
2.
3.
4.

Question ID : 26433094540
Status : Answered
Chosen Option : 1




Q.26

Ans 1. extent
2. event

3. facet
4. aspect

Question ID : 26433094552
Status : Answered
Chosen Option : 2

Q.27

Ans 2 1. amenities

2.
3.
4. faculties
Question ID : 26433094655
Status : Not Answered
Chosen Option : --
Q.28
Ans 1.
« 2. rose
. uestion ID : 26433094705
3. risen Q

Status : Answered
4. have rose Chosen Option : 4




Q.29

Ans 1.

2. No error

o 3. Question ID : 26433094520
4 Status : Answered
’ Chosen Option : 3

Q30 select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

We are going for a swim in the Ganga if you like it or not.

Ans 1.

« 2. if you like it or not.

3. Question ID : 26433094524
Status : Answered

4. No error Chosen Option : 2
Q.31
Ans

1. grateful

2. gross

« 3. gracious

4. greedy

Question ID : 26433094657
Status : Answered
Chosen Option: 1




Q.32

Ans 1.
2.
o 3.
4.
Question ID : 26433094637
Status : Answered
Chosen Option : 3
Q.33
Ans 1

She said that I am hungry and suggested that we should eat something.
2.

3.
o 4.
Question ID : 26433094651
Status : Answered
Chosen Option : 4

Q.34
Ans 1.

2. to be lost

o 3.

4.

Question ID : 26433094669
Status : Answered
Chosen Option : 3




Q.35

Ans 1. even if
2. because
o 3. Question ID : 26433094602
4 Status : Answered
- case Chosen Option : 3
Q.36
Ans
« 1. pressed
2. crushed
3. packed
4. slowed
Question ID : 26433094554
Status : Answered
Chosen Option : 1
Q.37

Ans 1. BDAC
2. ACBD
3. DBCA
4 BACD

Question ID : 26433094592
Status : Not Answered
Chosen Option : --




Q.38

Ans 1 privilege
2. liability
3. obligation
4. duty
Question ID : 26433094556
Status : Not Answered
Chosen Option : --
Q.39
Ans 1.
2.
o 3.
4.
Question ID : 26433094643
Status : Answered
Chosen Option: 3
Q.40
Ans

1. sell his house

« 2. but as well
3.

4.

Question ID : 26433094629
Status : Answered
Chosen Option : 2




Q.41

Ans 1.
o 2.
3.
4.
Question ID : 26433094564
Status : Answered
Chosen Option : 2
Q.42
Ans 1

He has not only been fined by the school but has also expelled for misbehavior.
o 2.
3

He will not only be fined by the school but will also be expelled for misbehavior.
4

He is not only fined by the school but also expelled for misbehavior.

Question ID : 26433094534
Status : Answered
Chosen Option: 2

Q.43
Ans 1.
2.
3.
4

Question ID : 26433094538
Status : Answered
Chosen Option: 3




Q.44

Ans 1.
2.
3. Question ID : 26433094600
Status : Answered
W 4 Chosen Option : 4
Q.45
Ans 1. hazy
2. dull
« 3. firm
4. dim
Question ID : 26433094663
Status : Answered
Chosen Option: 3
Q.46
Ans 1.
2.
o 3.
4.

Question ID : 26433094528
Status : Answered
Chosen Option: 3




Q.47

Ans 1 isn’t it?

Question ID : 26433094625
Status : Answered
Chosen Option: 1

Q.48

Ans 1. CADB
2. ABDC
3. ADCB
4 CDBA

Question ID : 26433094695
Status : Answered
Chosen Option: 1

Q.49

Ans 1.

Question ID : 26433094633
Status : Answered
Chosen Option : 3




Q.50

Ans 1.
2.

« 3. Father said that they were late for the train.
4. Father told that they were late for the train.

Question ID : 26433094542
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1._____he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

being

as ever, if you looked closely,
eyes. The moment that moved him so deeply was

the King." The words are being chanted everywhere

SubQuestion No : 51
Q.51

Ans 1. tick
2. minute
3. second
« 4. moment

Question ID : 26433094579
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

being

as ever, if you looked closely,
eyes. The moment that moved him so deeply was

the King." The words are being chanted everywhere

SubQuestion No : 52

Q.52
Ans 1. become
+ 2. became

3.
4. hecomes

Question ID : 26433094580
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1.____he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.

being
as ever, if you looked closely,

you could see tears glisteningin 9. ______ eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 53

Q.53
Ans 1. minor
2. slight

+ 3. major

4. petty

Question ID : 26433094581
Status : Answered
Chosen Option: 3




Q.54

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us willever4. ______. So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public

6. after his official proclamation.
Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

eyes. The moment that moved him so deeply was
the King." The words are being chanted everywhere

you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

SubQuestion No : 54

« 1. understand
2. know
3. remember

4. recall

Question ID : 26433094582
Status : Answered
Chosen Option : 4

Q.55

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glistening in 9. eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 55

« 1. appeared
2. appear
3. appears

4.

Question ID : 26433094583
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being

declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

you could see tears glistening in 9. eyes. The moment that moved him so deeply was

when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 56
Q.56

Ans o 1.
2. attendances
3. arrivals

4. advents

Question ID : 26433094584
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1.______he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

you could see tears glisteningin 9. ______ eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 57
Q.57

Ans 1. after
2. when
3. before

4. until

Question ID : 26433094585
Status : Answered
Chosen Option: 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glistening in 9. eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 58
Q.58

Ans 1. composed
2. repressed

3. stressed

4. quieted

Question ID : 26433094586
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading,’" the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glistening in 9. eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 59

Q.59
Ans 1. one’s
2. their

3. h_lm

" 4. his

Question ID : 26433094587
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading,’ the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being

declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

you could see tears glistening in 9. eyes. The moment that moved him so deeply was

when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 60
Q.60

Ans 1. Save
2. Defend
3. Rescue
4. Liberate

Question ID : 26433094588
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 61

Q.61

Ans . marked
2. scheduled
3. prepared

« 4 foreseen

Question ID : 26433094684
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 62

Q.62
Ans 1. retired
2. resigned
3. abstained

o 4

Question ID : 26433094685
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) _____ she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 63

Q.63
Ans 1. holder
2. master

« 3. heir
4. payee

Question ID : 26433094686
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) _____ she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.
After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was
serving in the Royal Navy. Their romance (10) and the couple married at Westminster
Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 64

Q.64
Ans 1. of
o 2. at
3. by
4. on

Question ID : 26433094687
Status : Answered
Chosen Option: 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 65

Q.65
Ans 1.
2. spend
« 3. spent
4. spends

Question ID : 26433094688
Status : Answered
Chosen Option: 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 66

Q.66
Ans 1. denied
2. returned
3.

« 4. rejected

Question ID : 26433094689
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 67

Q.67
Ans 1. explain
2. identify
3
4. imagine

Question ID : 26433094690
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 68
Q.68

Ans 1. serenity

2. prosperity
« 3. adversity

4. simplicity

Question ID : 26433094691
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 69

Q.69
Ans 1. reviewed
@2
3. replaced
4

Question ID : 26433094692
Status : Answered
Chosen Option: 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 70

Q.70
Ans s
2.
3. shriveled
4. exploded
Question ID : 26433094693
Status : Answered
Chosen Option: 1
Q.71
Ans 1. BADC
« 2. ABDC
3. CDAB Question ID : 26433094596
4 Status : Answered
- ACBD Chosen Option : 4




Q.72

Ans 1. to boast
+ 2. to exhaust
3. to ridicule
4. to pretend
Question ID : 26433094667
Status : Answered
Chosen Option : 4
Q.73
Ans 1.
o 2.
3.
4.
Question ID : 26433094636
Status : Answered
Chosen Option : 2
Q.74
Ans 1.
2.
3.
Mrs Kapoor told Bhawna that yvou should put those woollens in the sun that day.
o 4.

Question ID : 26433094546
Status : Answered
Chosen Option : 4




Q.75

Ans 1. cartoons of
W 2.
3. If I were
4,
Question ID : 26433094631
Status : Answered
Chosen Option : 2
Q.76
Ans 1.

2.

o 3.
4,

Question ID : 26433094562
Status : Answered
Chosen Option: 3
Q.77
Ans 1. No error
W 2.
3.
4.

Question ID : 26433094526
Status : Answered
Chosen Option : 2




Q.78

Ans 1. intimidate
2. alleviate
3.

4. commend

Question ID : 26433094661
Status : Answered
Chosen Option: 1

Q.79

Ans 1. Let the team be led by her.
2.

3.

Question ID : 26433094639
Status : Answered
Chosen Option : 1

Q.80

Ans 1. impotent

2.

4. forceful

Question ID : 26433094560
Status : Not Answered
Chosen Option : --




Q.81

Ans 1. DBAC
2. ABCD

« 2 BDAC

4 CABD

Ans 1. No error
2.
3.
W 4
Question ID : 26433094522
Status : Answered
Chosen Option : 4
Q.82
Ans I 1.
2.
3.
4.
Question ID : 26433094671
Status : Answered
Chosen Option: 1
Q.83

Question ID : 26433094590
Status : Answered
Chosen Option : 1




Q.84

Ans 1.

2.

o 3.

4.

Question ID : 26433094645
Status : Answered
Chosen Option : 3

Q.85

Ans 1. DCBA
2. BDAC
3. ABCD
4 DABC

Question ID : 26433094701
Status : Answered
Chosen Option : 4




Q.86

Ans

Comprehension:

Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 86

« 2. a news item
3.

4.

Question ID : 26433094617

Status : Answered

Chosen Option : 4




Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 87

1. Eight to nine months of care of the planted saplings

& 3.

Question ID : 26433094620

Status : Answered

Chosen Option : 3




Q.88

Ans

Comprehension:

Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.
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Ans

Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.
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Comprehension:

Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) -- including battery electric trucks (BETs) and fuel cell electric
trucks (FCETs) - do not have tailpipe emissions and have lower operating costs.
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.
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Comprehension:

Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation's economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.
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Ans

Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 97

Q.97
Ans 1.
2.
3.
o 4.

Question ID : 26433094716
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.
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